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QUESTION 1

There is a node in your cluster that needs to be halted to replace a hardware component? Which two statements are
true in this scenario? (Choose two.)

A. FlashCache data hosted on the failed node will mitigate to its partner.

B. A FlashPool-enabled volume hosted on the failed node will be taken over by its partner.
C. A SAN LIF hosted on the halted node will migrate to a healthy node.

D. An aggregate hosted on the halted node will be taken over by its partner.

Correct Answer: AB

QUESTION 2

Click the Exhibit button.

(missing the Exhibit)

Referring to the exhibit, what is a valid storage failover scenario?
A. Node 1 fails and Node 2 takes over Node 1\\'s storage.

B. Node 2 fails and Node 3 takes over Node 2\\'s storage.

C. Node 3 fails and Node 1 takes over Node 3\\'s storage.

D. Node 4 fails and Node 2 takes over Node 4\\'s storage.

Correct Answer: A

QUESTION 3
Click the Exhibit button.

: 1> atorage failover show
Takeover
Node Partner Possible State Description

nodel node2 = Waiting for giveback

node2 nodel false In takeover.

node3 noded = Waiting for giveback

node4 node3l fals= In takeover, Auto giveback will be

initiated in 30 seconds

Your 4-node cluster has two controllers in takeover as shown in the exhibit. Which action must be performed to ensure a
giveback occurs on both nodes?
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A. Perform a giveback of nodel.
B. Perform a giveback of node4.
C. Perform a giveback of node3.
D. Perform a giveback of node2.

Correct Answer: B

QUESTION 4

You want e-mail notifications sent to you automatically when latency reaches a warning level of 15 milliseconds and a
critical level of 20 milliseconds on a volume that stores your Oracle database files.

In this- scenario, which type of threshold policy should be created within OnCommand Unified Manager?
A. a LUN Threshold Policy

B. a Volume Threshold Policy

C. an SVM Threshold Policy

D. a Cluster Threshold Policy

Correct Answer: D

QUESTION 5

You create a Snapshot copy of a new volume.

Which activity increases the size of the new Snapshot copy?

A. deleting data that was written to the volume after the Snapshot copy was created
B. writing new data to the volume after the Snapshot copy was created

C. reading data that was written to the volume before the Snapshot copy was created
D. deleting data that was written to the volume before the Snapshot copy was created

Correct Answer: D
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